t29 xtuple_0
(TMKPT799zRKyajxBnNddmMBRw3U5{fdSgKh)

October 27, 2020

Let rl_tarski : t=1=0 be given. Let k4_xboole 0 : 1=>1=-1 be given. Let
k10_xtuple 0 : 1=t be given. Let k4_tarski : t=1= be given. Let k2_tarski :
t=-1=1 be given. Let k1_tarski : 1=>¢ be given. Assume the following.

VX0.VX1.VX2.(X2 = k4_xboole 0 X0 X1)=(VX3. 1)
(X3 € X2)&((X3 e X0)A(—X3 € X1)))

Assume the following.

VX0.VX1.kd tarski X0 X1 = k2_tarski (k2_tarski X0 (2)
X1) (kltarski X0)

Assume the following.

VYX0.YX1.(rl tarski X0 X1)=(VX2.(X2 € X0)= )
(X2 e X1))

Assume the following.

VXO0VX1.(X1 = kl0_ztuple 0 X0)(VX2.(X2 € @
X1)=(3X3.k4 tarski X3 X2 € X0))

Assume the following.
VX0.VX1.k2 tarski X0 X1 = k2_tarski X1 X0 (5)

Theorem 1

VX0.VX1.rl_tarski (k4d_xboole-0 (k10_ztuple_0 X0)
(k10_ztuple 0 X1)) (k10_ztuple-0 (k4_zboole.0 X0 X1))



